(0 ¢) (rad)

1072

1073

LRI
"

T
—_

SICEWATL

2 3
TPlpoT (PCA t%obeamliné[f)

—
= C
D
= L
o
o = -
o 107
= E
S} o

F 4+

1072

1073

o
0 © b NS

T

-+

———

2 3
TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

o p/p.)

,_.
<
L

o °F
T r
[nd C
2__ ............................................
i R IBURP T, . Y R
—1 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o

—~

= L.

o +

=

-~ - +
N

=]

Qo

=

s}

........................................

.9 ?2
@ : |
8 11 : :
4 kT |
0A9:—"""""':+"+ """ i'{'é’i """ '|F§ """"""
0.8E : :

107! 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


